
Physics 11 - Quiz 17 5/-4/2020

You are on the bottom of a pool that is 3 meters deep. You shine a laser
up toward the surface so that it strikes the surface of the pool one meter to
the side of where you are. The beam continues up and strikes the ceiling 4
meters above the pool. How far, x from the point of leaving the water does
the light strike the ceiling?
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Solution:
tan θ2 = 1

3 −→ sin θ2 = 0.31623 or just sin θ2 = 1√
32+12

= 0.31623

n1 sin θ1 = n2 sin θ2

1.00 sin θ1 = 1.33(0.31623) = 0.42058

tan θ1 = 0.46358
x

4m
= 0.46358

x = 1.8543


